
Украина. (С) Демидов С.В. Собственное творчество...

 R1 = 1000, R3 = 3000, R2 = 2000, Uin = 10В

Uout1 = R1
R1 + R3 + R2

⋅ Uin = 1000
1000 + 3000 + 2000

⋅ 10 =

=
1000
6000

⋅ 10 = 0.166 ⋅ 10 = 1.66В

Uout3 = R3
R1 + R3 + R2

⋅ Uin = 3000
1000 + 3000 + 2000

⋅ 10 =

=
3000
6000

⋅ 10 = 0.5 ⋅ 10 = 5В

Uout2 = R2
R1 + R 3 + R2

⋅ Uin = 2000
1000 + 3000 + 2000

⋅ 10 =

=
2000
6000

⋅ 10 = 0.333 ⋅ 10 = 3.33В

Uin = Uout1 + Uout3 + Uout2 = 1.66В + 5В + 3.33В = 10В

Uin = R1 + R3 + R2
R1

⋅ Uout1 = 1000 + 3000 + 2000
1000

⋅ 1.66 =

=
6000
1000

⋅ 1.66 = 6 ⋅ 1.66 = 10В

Uin = R1 + R3 + R2
R3

⋅ Uout3 = 1000 + 3000 + 2000
3000

⋅ 5 =

=
6000
3000

⋅ 5 = 2 ⋅ 5 = 10В
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Uin = R1 + R3 + R2
R2

⋅ Uout2 = 1000 + 3000 + 2000
2000

⋅ 3.33 =

=
6000
2000

⋅ 3.33 = 3 ⋅ 3.33 = 10В

R1 = Uin ⋅ (R 3 + R2)
Uout3 + Uout2

− (R 3 + R2) = 10 ⋅ (3000 + 2000)
5 + 3.33

−

− (3000 + 2000) =
10 ⋅ 5000

8.33
− 5000 =

50000
8.33

− 5000 =

= 6000 − 5000 = 1000Ом

R 3 =
Uin ⋅ (R1 + R2)

Uout3
− (R1 + R2) =

10 ⋅ (1000 + 2000)
5

−

− (1000 + 2000) =
10 ⋅ 3000

5
− 3000 =

30000
5

− 3000 =

= 6000 − 3000 = 3000Ом

R 2 = Uin ⋅ (R1 + R3)
Uout1 + Uout3

− (R1 + R3) = 10 ⋅ (1000 + 3000)
1.66 + 5

−

− (1000 + 3000) =
10 ⋅ 4000

6.66
− 4000 =

40000
6.66

− 4000 =

= 6000 − 4000 = 2000Ом

Rобщ =
Uin ⋅ (R3 + R2)
Uout3 + Uout2

=
10 ⋅ (3000 + 2000)

5 + 3.33
=

=
10 ⋅ 5000

8.33
=

50000
8.33

= 6000Ом

Rобщ = Uin ⋅ (R1 + R2)
Uout3

= 10 ⋅ (1000 + 2000)
5

=

=
10⋅3000

5
=

30000
5

= 6000Ом
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Rобщ = Uin ⋅ (R1 + R3)
Uout1 + Uout3

= 10 ⋅ (1000 + 3000)
1.66 + 5

=

=
10 ⋅ 4000

6.66
=

40000
6.66

= 6000Ом

Потребляемый ток:

I = Uin
R1 + R3 + R2

= 10
1000 + 3000 + 2000

= 10
6000

= 0.00166 А

Рассеиваемая мощность на R1, R3, R2:

P1 = Uout1 ⋅ Uout1
R1

= 1.66 ⋅ 1.66
1000

= 0.00275Вт

P 3 = Uout3 ⋅ Uout3
R3

= 5 ⋅ 5
3000

=0.00833Вт

P 2 = Uout2 ⋅ Uout2
R2

= 3.33 ⋅ 3.33
2000

= 0.00554Вт

Pобщ = P1 + P 2 + P3=0.00275 + 0.00833 + 0.00554 = 0,01662Вт
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